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/2
I, = / sin"xdr n>2 SRI,FEAMELXIFR D 1B
0

/2 /2
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w/4 m/4
I, +1, o= / (tan™ x + tan” 2 z)dr = / tan" 2z dtanz =
0 0 n—1
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Example3:
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b
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i [ e -ae-blde = [ @-ae-tdo=—3 [ @-ade-v* =5 [ (@b
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W I:/Wﬂdw
o 1+cos?z
L rz=m—t dr=—dt
I
I:/W zsinx d:z::—/o( T —t) smt / sint _/7r tsint &t
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T2 32 /2 Li.a2 0 .9
/ sin“ x de — / sin® ¢ dz + / sin® ¢ da
—7r/2 €m+1 0 ex—l—l —71'/2 ex—|—1

ot /0 sinz 2=t /”/2 sitht gt — /”/2 sin? z g
—7/2 et 4 1 0 e '+ 1 0 e %+ 1
2

T2 L /2 1 1 /2
/ il da::/ sin® z( + )da::/ sin ¢ de = —
,ﬂ—/Q et + 1 0 e’ + 1 e T + 1 0 4

Three important transformations of variable
Suppose f(z) € C,we have
L[ f@)de = [ fa—z)dx

e.g.

s

2 2
/ cos"zdr = / cos”(Z —z)dz = / sin"z dz
0 0 2 0

2. [2, f(z) dz = [{[f(2) + f(—z)] dz

ol

Further, we get

2 [ f(z)dz, if f(z)iseven
/ fle)de = { ,O if f(x) is odd

3.Suppose f(z) is also a periodic function and T is a cycle , we have

/anrT f(x)dz = /(;T f(z)dz

In addition,, faa+NT f(z)dx = NfOT f(z) dz.

e.g. Calculate |, 0100” z|sinz|dz

meOW z|sinz|dx =

flOOﬂ(IOOW — z)|sin(1007 — z)| dz = 1007 fmo# |sinz|dz — 01007r z|sinz|dz
s0, fOIOO”x|szn:13| dz =197 [ 7 sina| do = 10T % 100 [y sinz dz = 1007
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sinx + cosx

/2 sin® z ™2 cosdz
o sSlnz-+cosz o COST+sinx

1 (72 gin3 3 1 [7/2 1
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2 /o sinx + cosx 2 Jo 2°2
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Example:
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% f(z) € C[-1,1] E# : hli_)n(r)1+ . ﬁf(m) dz = 7f(0).
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1
pomiEn s dim [ (@) - A0z =0 @

h—0+ J_; h2 4+ x2

h Vhop
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& |f(z) — £(0)| < M /1

VEh Loh
[ @ s e+ [ @) - f0)de

1 1 1 1
|/\/E ﬁ[f(m) — f(0)]dz| <M i # dr = M(arctanﬁ — arctan ﬁ) —0 ash—

vh h 1 +
/ﬁm[f(x) ~ J(O)]de = [£(6) ~ J(0)] x 2aretan —= = 0x T =0 ash 0

4. f(z)ER F#ES:  EH:

27

f(acosx + bsinz) dz = 2/ f(+v/ a? + b2cosx) dz
0

0

RAEHHBI A A : acosz + bsine = v/ a? + b%cos(x + 0).

2 27 0+2m
/ f(acosz + bsinz) dz = / f(va?+ b2cos(z + 0)) dz = / f(v a? + b2cost) dt
0 0 0
= / f(V/ a? + b2cost) dt = 2/ f(V/a? + b2cosx) dx
- 0
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1-§ 1
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Example:

% f(z) € C[0,1] H 1f(:I:) dzx = /1 zf(x)de =0 1F8 :
0 0
1 T1, T2 (T1 # 22) € (0,1) {7 f(21) = f(z2) =0

T /0 f(x)de =0 f(z) € (0,1),M Fzoe(0,1): f(zg) =0

# (@) (0, ERA=AF L 20 W f(@)E(0, 20) EARET, (w0, 1) AL, BAEFTXFN SRS
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Application:

L | L | 1 <& 1 1.1 1
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n—r00
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(Hadamard inequality)

Vz € [a,b], z = ELa+ Z2b  so, f(z) = f(2Za+ &2b) < 2L f(a) + =2 £(b)
( property of the concave )

Integrate both sides of the equation, we get

b _a)? _a)? Ca
[ 1@rde < 0 x 2 x E5  x BST = B2y g0

2

i MAEATR AT DU E R 5 SCIEW, 113 B IE(hint 2R X T8] 2025 70 FEA AR (A 5
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If we change the condition of constraint put f”(x) > 0 (this situation is stronger) and
we can use another common way to prove this inequality.

5% [f(a) + f(z)] (z € [a,b]) F(a) =0
F'(2) = f(z) = L9570 — 230 (@) = [f(2) — f(@)] - 5 f'(2)
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According to the Lagrange mean theorem

3 fe(az) st f(z) - fla) = (z—a)f'(¢)
so F'(x) <0 F(x) <0 F(b)<0.The sencond inequality is established.

On the other hand,

f(x) > f(zo) + f'(zo)(x — 20)

put o = “erb ,we get

a+b a+b a-+b

flz) = f( ) + £/( )z~ ——)

Integrate both sides of the equation we can get the first inequality.
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SN 27 Arr
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9. % f(z) € C[0,1],0 < f(z) < 1 iEM:
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/0 1— f(x) dr = 1—f01f:c dz
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b
— / f@)dz f(z) >0

b
- / @) de flz)s
2. 28T R

T = ¢(t) / o -
{y=¢m P)#£0 a<t<p FHHES

)s/w |dm”t/|¢ (t) dt

3 AL
=rf) a<6<p

1 B
S = 5/ r2(0)d0

A ST ARAR
b
LEmHR  Ax) V:/ A(z) dx

b b
QIR hath V=7 | fi(x)dx Seyhh:V = 271'/ zf(z)dx

=P R
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l:/ab\/l%—[f’(w)]?dw
z:xfwwmuwwmﬁ

VU@ % e o ) 0 i A

—%/ﬂw T (@) de
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7SRRI A M R B i KK — B s, BEFIE, $hE, (AR RA R RIA
BHEEANK, A XI5 /T LR RRAN B AT T

X ESRATL A EE R (I B O Eulerfii /)):

+oo ,.p—1
/ A, P —— pe(0,1)
0

1+z sin pmw

X MREER SIS, EH R ZHN T, &R0 A R —F Bk KA
Rt A:

I'(z)[(1—z) =

stnxm

N IR, EDR B B4 5 3] I 4R Fourier 281245 ¥

s=1 I I,

1 1 1 ol 1
T— o8} r— z—1 —x
_/s ds+/ i ds:/s ds+/s ds
0 1+8 1 1+.’B 0 1"‘3 0 1"‘3
1 00
1
_ k kte—1 g ktz—1 3. k
ds / E (=1)%s ds = E (—1)F /0 s ds = E (-1) o

k=0
[E]FE, aﬂaﬂﬂuﬁ I :

b= () i(—n’“mi
— —1
I+ I, = Z(—l)k
k=1

J i
e

1 = 2
t Fourier/EJ : aN WEE  |cosax ~ sznom —+ Z( 1)" a scosnz]| z € (—m,7]
& O[ n=1 —-n
KAz = 0, Pismafell — afF5) i( 1)’“2—a+i— (1] Ay A —
B N -k o sinax 7 sinzrw

k=1
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> 1
] : d
TE /0 1 x

/°° 1 "=t /Oo gt T
o "+ 1+t B nsin%ﬂ'

1
WER - / tP(1—2z)P tde = p € (0,1)
0

stnpm

+oo  .p—1
A1, / T dr=——| pe(0,1)
0

1+ sin pmw
1
BREH S 1 = o ALY / P(1— 2y de = —
14+ sinpm

5 /—daz
! 0o v1+zn

L gt b SR = — x T

n sinZt
n

1 1 1
&?Jt%iﬁ/ —d:z::/
0 V14 o z"+1

dx

BRI H —DEERR

/ e @ de = g ( * Euler — Possion * #143)
0
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aEg [ 2
HH,Vn e N* . \/—/ e’ oy = / e ¥ dx Ve:e* >1+z
0

14 (1—2%)" < e ™ [Hksh :

2n)!! /2 T=Ssinc 1 1 o0 1
L = / cos™ gz dx 7/ (1—z*)"dz < / e dx < / e " dp = —
2n+ 1! J, 0 0 0 Vn

nJo

1
2" >l4aloe ™ <~ KA :

(142’
I T R == o
T = T zdr = v/n——m
0 (14—:52 (2n -
, n 1 @n)! ., e, 2n—1)" 54
3.5,V N*: < Tdr)® < 1) (—————)*-
AEVn e N T e T (o ) —(/0 e de) < (45
H Wallis A :
_ 1 @) Cn-1!', . n+1 1
1 1 1)[—2-1° = =
nosoo 2n—|—1[(2n—1)!!] 2’ nggo(n+ )l (2n)!! ) n—oo 2n+1 _1 [ (2n)! 2
2n+1 L (2n—1)!
Hh Je 1 T 1 / emzdac:?
0
Example:

o 1 1 o 1
—  de=— ————d >0
| e, e R

_ 1 /°° 1L g wstew 1 /”/2 ostn 2 gp — L (@n=3) 7
a1 Jo (1 +az2)n a1 J, a1 (2n —2)!! 2

e E g LA BRI SR

/ S dx = % ( % Dirichlet * F253)
0

Z

* . 2 1 ™
sinz®dr = —4/ —| ( *x Fresnel x fR4))
0 2V 2

®  cosbx T *® r sinbzr T
/0 md.’]) = %6 ab /0 m d$ = 56 ab ( *Laplace* */El%)

X H45  FHRiemann-Lebesgue lemmail: W1 55— XA 07718, S1-F EAIR 2 K T XL
?D’\E’JLEEH PARCRIHT, JEOGER s #E A) DLEAT B, 0 s & 44 /0 AR . B AT
- %1°F (zhihu.com)
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¥k t Dirichlet 15155, / L g sk
0

™ sin(n + 1)t Q 1 1 1 ™ sin(n + 1)t
0o 2singt 0 2sing U 2 0 ¢
1 1
soplim—— — 1 _ o,ﬁﬁu/ (—— — D)yREEES
t—0 252n—t t 2S’Ln—t t

H Riemann — Lebesgue| BN X ALK — NS En — ool iEam 10, FrbAf:

T sin(n + 5 )t T sin(n + 5 )t ntit=z [ i
lim —L#wzm/—LAiM:;JSW
n—oo [ 231n§t n—oo [ t 0 T
n sin(n + 3)t
=+ Y coskt = ———>— SR PIHLE (0. ] LI LA 5
2 o 2sin 5t
LB ™ sin(n + +)t
4 / cosk’tdt:/ ('—12)dt:1
2~/ 0 2sin5t 2
® i ™ sin(n + +)t
i /, 5% dz = lim ——lf—qﬁl—dt:-i
0 T n—oo [ ZSzngt 2

WE B 77745k H [https://blog.csdn.net/san_fu_su/article/details/115191666]

HE |, EIRA R RASMO IR, N TR AR A .

Examplel:

/2 /2
kK I:/ In sinz dx U\&/ Incoszdx (Eulerfisy)
0 0

A RRRAELEE ] =

/2
/

/2 1 n?2 /2
2I:/ ln—szn2a:dm— T +/
0

/2
Insinzdx = / In cosz dz
0

mwln2

Insin2zxdx = —
2

+I=1=-—

dz, LHA:

wln2
2

/2 1 ™
(v - /f dm—/ fla—z)d / 1nsin2mdw-§/ In sinz dx
0

/fsznm x—2/ f(sinz) dx)

Example2:

Wb / ST 1 WS
1
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sinx

1
1. p> 18 | | < o RO

2. 0<p<1m / sinz dx HH —$ﬁl§ﬁ2%?0 H Dirichlet #5132, %) XA WAL

2

1 2 2
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